ANNUAL EXAMINATION 2015-16

SUB: Maths

Class : VII
Time : 3 Hrs. MM: 100
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1. Udb XE™F FH BT B0 BT INTHS BT & |

1. 90° 2. 180° 3. 270° 4. 360°
0
2. 75 I AFRE HIV BT B |
1. 15° 2. 105" 3. 235° 4. TTH O PIs &I

3. Ud |AGg RS &1 Id HI9T Bl 2 |

1. 60’ 2. 90° 3. 105’ 4. 120°
4. S GEGIT FRST # FHBIOT & AT B ol HEAT © |
101 2. T 3. JMR 4. 3TH A PIS TEI
5. U® g9 H ANl @ 6T T @ A Bl 2 |
1. 2| 2. 9o 3. °d 4 Mer
6. A ( )
1. 60° 2. 30" 3. 90" 4. 190°

7. U BN & 3ifer Bl ofwrs 91 BRI fOTAPT &5%hdl 21cm 3R MER 6cm. B |
1. 10cm 2. 9cm 3. 8cm 4. 7cm
8. IfE MY b IT Bl STeld © ol AT 6 B UTKT HR DI I B |

1. 1/6 2. 6/6 3.1 4. 0
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9, 246,83 10 BT 71T 2 |
1. 4 2. 2 3. 8 4. 6

10.  Hobd X b 3ed 2|

1. TOFH 2. GIIoHA 3. T 4. 3R

Choose the correct answer

1. The sum of the angeles of a linear pair is.
1. 90° 2. 180" 3. 270" 4. 360
2. The supplementary angele of 75%is.
1. 15’ 2. 105° 3. 235 4. None of these.
3. Each of angles of an equilateral triangle is.
1. 60° 2. 90" 3. 105" 4. 120°
4. The side of a triangle are produced in order, the sum of exterior angles so formed is.
1.180° 2. 360 3. 540" 4. 720°
5. Number of vertics of a culroid are equal. to a
1. Cone 2. Cylinder 3. Cube 4. Sphere
6. If ( )
1. 60° 2. 30° 3. 90° 4. 490°
7. What is the length of the altitude of a triangle whose area is 21 cm and base is 6 cm?
1. 10cm 2. 9cm 3. 8cm 4. 7cm
8. If you throw a die the change of getting a number 6 is.
1. 1/6 2. 6/6 3. 1 4. 0
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9. The mean of 2, 4, 6, 8 and 10.
1. 4 2. 2 3. 8 4. 6
10.  The symbol 2 means.
1. Product 2. Sum of 3. Division of 4. Difference of.
Raa Al & gfit @ifdig |
1. TH A RN &R B a1 S Uferd del Il © |
2. TR CP>SP AT e BT B |
3. UD A H R 8 2
4. I UPp g B IR 154cm BT AT SHDT AT oo BT |
5. HAod Bl ( ) ST ST © |
Fill in the blanks-
1. Afraction with its denominator as ...................... is called percent.
2. IfCP>SPthenthereisa ........cccce......
3. Acirlehas....ccounueeeeee. lines of symmetry.
4. Find the diameter of a circle whose area is 152 M % ...ooueveeeeveerneenn.
5. The symbol ( )isread as ......ccccecuvveeeeennnns
1. =1 uR¥Y Gxametl &l AMRIE! 9 H gafRerd HIfTy |
-10 1 -12
15 2’ 10
Arrange these rational in ascending ordr.
-10 1 -12
15 2’ 10
=1 Aol =T o TeEy |

a’+2a%b + 6ab’—b> I b>—3ab?—49%b H

Subtract

a’ +2a’b + 6ab’>—b> from b>—3ab’?-49%

3

https://www.evidyarthi.in/



U.5 A 3y, 12 Fad AT H B ATy BT A9 S B |

If 3,X., 12 are in continued proportion, find the value of y.

U6 A 36 HI. HUS BT Hed 540 %. & I 15 HI. BUS BT Jod FAT BRIT?
If 36m of a cloth costs 540, what will 15 m of the cloth art?

U7 3rgUTd &I ufrerd # 9|
1. 2:3 2. 17 - 15

Express each of the following radios as the percent.

2. 2:3 2. 17 = 15

g8 I UH 7500%. T Hed @ <1 41 WS B 6600%. # Ay fhar Siar &, o o a1 &1+
yfcrerd =T &R |

If a TV set purchased for Rs.7500 be sold for 6600. find the profit or loss percent.

g9 {59 goRIR &7 6 qul # 10 % HAER AT & &% H 81 900%. 81 SITQT?
What principal with amount to one in 6 year at 10% simple interest?

910 7 BT A4 A B |

Find the value of

U1 P RS &1 9181 BT 80° HT © SR T WHRF HIUN H 5 : 3 T AU 2| B &

DIV BT STd BRI |
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One of the exterior angels of triangle is 80° and the interior opposite angles are in the radio 5: 3

find the angles of the triangle.

u12 fa=ifed I § AC=BC IR LACB =120 dI LA &1 H9 S0 B |

In the following figure AC = BC and ZACB = 120° find ZA.

U.13 U AAGIG RIST BI &1 STy fSTde®r aiRomd 15¢m &l |

Construct an equilateral triangle having its perimeter 15 cm.

U14 TP gl b AN AR AT BT T0HET BIRTY, et gRkfer 220cm 87|

Calculate the diameter and radius of a circle whose circumference is 220cm.

15 TP AT BT URHT 234cm B | IS SIPT THTs 0! drels A 3cm e © dr 3mad
B . FT B |

The perimeter of a rectangle is 234cm. if its length is 3cm. more than its breadth find the length

and breadth of the ractankle.

U.16 Tdh fdermer H 60% fIemell dee iR Iv Fefedl 2| afe femem & el @1 g

T&T 2500 BT o fAemera § s Ud ofsfhdl BT 3TelT—2 AT SITd B |

60% of the students in a school are boys and the rest are girls. it these strength of school is 2500

how many boys and girls are there in the school.

U417 AN b 200%. Hed Bl GID Pl 20% A UR ASI DI 99l & | A9 g9 10% B
TN W 3dd ®I 9 a1 | g 7 MU Tadb & forg fram . Ry

Anil sold a book worth Rs. 200 at a profit of 20% to Ajay. Ajay sell it at a loss of 10% Atul. what

did Atul pay for his book?

https://www.evidyarthi.in/



18 AABCH AM, AABC &1 HIfegehT & dd YATOTT BHifoie fh

AB +BC+ CA>2AM
In AABC, AM is a median of AABC prove that
AB + BC+ CA>2AM
U.19 TP ARRY U Bl JSHTAT ST & | TR &l T[0T BT |

1. 6 UTK HRA DI |

2. FHIT YT B P |

An ordinary fair dice is rolled. calculate the probability

1. Of gettinga 6.

2. Of getting even humber.
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